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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)

(ii)

(iii)

(iv)

()

(vi)

(vii)

(viii)

This question paper comprises four sections — A, B, C and D.
This question paper carries 40 questions. All questions are compulsory.

Section A — Question no. 1 to 20 comprises of 20 questions of one mark
each.

Section B — Question no. 21 to 26 comprises of 6 questions of two
marks each.

Section C - Question no. 27 to 34 comprises of 8 questions of three
marks each.

Section D — Question no. 35 to 40 comprises of 6 questions of four
marks each.

There is no overall choice in the question paper. However, an internal
choice has been provided in 2 questions of one mark each, 2 questions of
two marks each, 3 questions of three marks each and 3 questions of four
marks each. You have to attempt only one of the choices in such
questions.

In addition to this, separate instructions are given with each section
and question, wherever necessary.

Use of calculators is not permitted.

Section - A

Question numbers 1 to 10 are multiple choice questions of 1 mark each.
You have to select the correct choice :

1. TheH
(a) 15

CF of 135 and 225 1s
(b) 75 (c) 45 d 5

2.  The exponent of 2 in the prime factorization of 144, is

(a) 2

.30/3/1. |

(b) 4 (© 1 (d) 6
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30 T 3T, TSt ndf 9g a, = (3n + 7) B, 11 S R -

(a) 3 (b) 7 (¢) 10 (d) 6
A o1 98 O F7eeh foTe (22 + 4x + 1) TH YU A 7, B -
(a) 16 b) 9 © 1 d) 4

k %1 9% 9 e fore Waes afiertor Im ke + y = k2 @1 x + ky = 1 % 37afifig &9
YINFHEAE, B

(@ +1 (b) 1 (o -1 (d) 2
p o Th8 T % T8 (2p + 1), 10 9T (5p + 5) Th GHIA A1 & o itk U 8, & -
(a) -1 (b) —2 (© 1 (d) 2
Frean
TR A 5, 9, 13, ..., 185 W fopam g & 7
(a) 31 (b) 51 () 41 () 40

BT 1 H 5gYE p(x) 1 e e B | 5Ue 3 b Hl GEAT R -

(a) 1 ) 2 © 3 @ 0

I fagatl A(10, —6) 71 B(k, 4) ! ™ aret W@rEe %1 7949-193 (a, b) &,
a—2b=18%, Wk HI AR

(a) 30 (b) 22 ) 4 (d) 40

k 1 98 7 gk fau foig A (0, 1), B (2, k) 71 C(4, —5) 9@ 8, &

(a) 2 (b) —2 ) 0 d) 4

Ifc A ABC ~ A DEF 38 YR g f6 AB = 1.2 @tft 9o DE = 1.4 &t g, @t fngei
ABC 91 DEF % &%l § 3101 2 :

(a) 49: 36 (b) 6:7 (c) 7:6 (d) 36:49
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The common difference of an AP, whose n'! term is a,=(Bn+7),1is

(a) 3 (b) 7 (c) 10 (d) 6
The value of A for which (x* + 4x + 1) is a perfect square, is
(a) 16 (b) 9 (c) 1 (d) 4

The value of k, for which the pair of linear equations kx + y = k? and
x + ky = 1 have infinitely many solutions is
(a) £1 (b) 1 (¢) -1 (d) 2

The value of p for which (2p + 1), 10 and (5p + 5) are three consecutive
terms of an AP is

(a) -1 (b) -2 (c) 1 (d) 2
OR

The number of terms of an AP 5,9, 13, .... 185 1s

(a) 31 (b) 51 @) 41 (d 40

In fig. 1, the graph of the polynomial p(x) is given. The number of zeroes of

the polynomial 1s
N

- 2
T1

D N 74 R D R S S -

F\‘,ig. 1
(a) 1 (b) 2 (c) 3 (d 0

If (a, b) is the mid-point of the line segment joining the points A(10, —6)
and B(k, 4) and a — 2b = 18, the value of k is
(a) 30 (b) 22 (c) 4 (d) 40

The value of k for which the points A (0, 1), B (2, k) and C(4, —5) are
collinear 1s

(a) 2 (b) —2 (© 0 (d) 4

If AABC ~ A DEF such that AB=1.2 cm and DE = 1.4 cm, the ratio of the
areas of A ABC and A DEF is
(a) 49: 36 (b) 6:7

(c) 7:6 (d) 36:49

P.T.O.
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11. (0, 5) @1 (=5, 0) % = H gl H1~/2 T 2|
12. 4 G Brsan aret 9 31 ST S st i st gl 2|
13. 3TRfd 2 H, O g 9Tct 91 1 PA d1 PB g1 &% (@M 39 YR &1 & b ZAPB = 50°
?,ALOABHIAE 7|
A
< o)
P
B
ST -2
era
3T 3 § PQ U I i Teh Siam 2 a1 PT, P ot @q%i t@1 el 2 76 ZQPT = 60° 3,
@ /PRQ S 7 2

14.

3cot 40° 1 (cos 35°) _
tan 50° 2 \sin 55°)

T (1 +sin 0) (1 —sin 0)
15. ZlﬁCOte_S%’Fﬁ (1 + cos 0) (1 —cos 0) PTAM 2l

T TEAT 16 T 20 -3 TR o ¥ &, FS8H 8 T 1 37h 1 8 |

1 1
16. (1+cot26+ 1+tan29)mmw%?
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In Q. Nos. 11 to 15, fill in the blanks. Each question is of 1 mark :

11. \/5 times the distance between (0, 5) and (-5, 0) is

12. The distance between two parallel tangents of a circle of radius 4 cm 1s

13. In Fig. 2, PA and PB are tangents to the circle with centre O such that
ZAPB = 50°, then the measure of ZOAB is
A

< 0
P

B
Fig. 2
OR
In Fig. 3, PQ is a chord of a circle and PT is tangent at P such that
ZQPT = 60°, then the measure of ZPRQ is

3cot 40° 1 (cos 35°) B
tan 50° = 2 \sin 55°)

(1+sinB) (1—-sinB)
(1+cos ) (1—cos0)

15. Ifcot 0= % , then the value of

Q. Nos. 16 to 20 are short answer type questions of 1 mark each.

1 1
: 9
16. What is the value of( 1+ cot? 6 + 1 + tan? 9) !

0L, | 7 P



17.

18.

19.

20.

21.

22.

23.

i
e
1 9 A THAT T HATSAT H 1 : 3 1 STIA & AT ITeh! SIS & 3 ¢ 1 %1 310G &,
3ok STRIAHT H AT ST 8 ?

AT T T TN Hich, 3G §2H 1 Fgcteh AT hITTT STHehT WIET 8,32 TUT HIETH
8.05% |

Ife ohet Il B4 hY ITRIshar 0.85 &, 1 shel a¥1 A 81 bl ITf¥rehar =1 2 ?

T 1 WThd T3 I W TR ?

wE-d
T3 TAT 21 | 26 T T Y¥H o 2 37 8 |
THI I 12, 8, 4, ..., —84 o <" 9 ¥ (Y¥UH U shi HR) 1141 9 T1d HIfT |
FrE
=1 Tftentor @1 g i
1+5+9+13+...+x=1326

3ATeR(d 4 H, g O a1 I ol Th (a1 AB 8, AOC T =99 2 71 foig A W w91 &@n

AT 2 | fag fifse fs ~BAT = ZACB.
C

0% B

Vi1 Cd

A
Fept-4

1—cos?0

3
aﬁtane—ﬁ,?ﬁ(lwosz e)wmqsn?rﬁ%ﬂl
AT

2 sec 0
aﬁtane—\ﬁé,?ﬁ(lﬂanw)wmaﬁﬁﬁql
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17. Two right circular cones have their heights in the ratio 1 : 3 and radii in the

ratio 3 : 1, what is the ratio of their volumes ?

18. Using the empirical formula, find the mode of a distribution whose mean
1s 8.32 and the median i1s 8.05.

19. The probability that it will rain tomorrow is 0.85. What is the probability
that it will not rain tomorrow ?

20. What is the arithmetic mean of first n natural numbers ?

Section - B

Q. Nos. 21 to 26 carry 2 marks each.
21. Find the 11th term from the last term (towards the first term) of the AP
12, 8, 4, ..., —84.
OR
Solve the equation :
1+5+9+13+ ... +x=1326

22. In Fig. 4 AB is a chord of circle with centre O, AOC is diameter and AT is
tangent at A. Prove that /BAT = ZACB.

C
Oe B
A T
Fig. 4

1 — cos? 6]

3 .
23. Iftan 6= 4 find the value of( 1 + cos? 0

OR

2 sec 0 j
1+ tan2?0

If tan 6 = \/5, find the value of (

o, 9 P




24.

25.

26.

217.

28.

29.
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Go i 2-4 | 4-6 | 6-8 | 810 | 10-12 | 12-14
ARARAT 6 8 15 p 8 4
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99 AT 27 9 34 dh Tcdh Y31 b 3 37k @ |
gfeg=ad a, 7, b, 23, ¢ T AR A T &, dl a, b TUT ¢ o T 1A shiIT |
SterEt

Jfe e TUTAR J@ % md 9 T m AT, $Hh nd U % n A & U &, I gi3Q foh 59
G T (m + n)al TE AR |

k % o A 1a <hifere freh foru fgema avffemtar (k + 4) 22 + (k+ 1) x + 1 =0 T
A &l |

FEIC &% — 342 + x + 2 I Th 3 TgUE g(x) § W i T WIThHS AT ITHS FHH:
x— 2TqAT—2x + 4 8 | g(x) Fd HITT |

Jreran
Ife SigUe f(x) = x4 — 8x + k o I[Tehi b a7 1 AT 40 7, I k T HH 14 ShIfT |
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24.

25.

26.

217.

28.

29.

Read the following passage and answer the questions given at the end :

Students of Class XII presented a gift to their school in the form of
an electric lamp in the shape of a glass hemispherical base surmounted by
a metallic cylindrical top of same radius 21 cm and height 3.5 cm. The top
was silver coated and the glass surface was painted red.

(1) What is the cost of silver coating the top at the rate of ¥ 5 per 100 cm? ?

(11) What is the surface area of glass to be painted red ?

Find the probability that a leap year selected at random will contain 53
Sundays and 53 Mondays.

Find the value of p, if the mean of the following distribution is 7-5.
Classes 2-4 | 4-6 | 6-8 | 810 | 10-12 | 12-14
Frequency (fi) 6 8 15 p 8 4

Section - C

Q. Nos. 27 to 34 carry 3 marks each.
Find a, b and c if it 1s given that the numbers a, 7, b, 23, ¢ are in AP.
OR

If m times the m™ term of an AP is equal to n times its nth term, show that
the (m + n)* term of the AP is zero.

Find the values of k, for which the quadratic equation

(k+4)x>+ (k+ 1) x+1=0 has equal roots.

On dividing x* — 3x> + x + 2 by a polynomial g(x), the quotient and
remainder were x — 2 and —2x + 4 respectively. Find g(x).

OR
If the sum of the squares of zeros of the quadratic polynomial

f(x) = x> — 8x + k is 40, find the value of k.

' .30/3/1. | 11 P.T.O.

S



30.

31.

32.

33.

34.

35.
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30.

31.

32.

33.

34.

35.

In what ratio does the point P(—4, y) divide the line segment joining the
points A(—6, 10) and B(3, —8) if it lies on AB. Hence find the value of y.

Prove that, a tangent to a circle is perpendicular to the radius through the

point of contact.
OR

Prove that the angle between the two tangents drawn from an external
point to a circle i1s supplementary to the angle subtended by the line

segment joining the points of contact at the centre.

In a right triangle, prove that the square of the hypotenuse is equal to the

sum of squares of the other two sides.

If sin 6 + cos © = p and sec 0 + cosec 6 = ¢, show that q (p2— 1) = 2p.

500 persons are taking dip into a cuboidal pond which is 80 m long and
50 m broad. What is the rise of water level in the pond, if the average

displacement of the water by a person is 0.04 m? ?

Section - D
Q. Nos. 35 to 40 carry 4 marks each.
Show that (12)" cannot end with digit O or 5 for any natural number n.

OR
Prove that (\/5 + \/B) is irrational.

.30/3/1. | 13 P.T.O.



36.

37.

38.

39.

40.

T 1T U FTad gl Uk 5 =1 § 9 B | AfG I8 T 6 km/h. O =@
T Tt @t 77 Tifvaa v & 4 5 % At a9 e 78 6 km/h. € H = F Fewd d@
g Tfead wa 9 6 9¢ 31t ot | = <hi ffved gt sima shifvw |

T FHaTg S ABC H, D 9T BC W U ud foig 2 76 BDzéBC% | forg i
69 AD2=17AB? |

HAYS

Tirg <hifSTe T6 e Tarqyst St YSITaTi o STt ot A1 3o TrehuTt o It o AT o SR
BT g |

=t Toh Bfiet o1 Te & 10 W, hi SerS 7 R Toh feig A U S1eet 1 I1E B0 30°
AT STee hl 3iel H ST o1 I foig & 76 Hv1 60° 2, dl Sreet h1 3ie i T o
$aTE 14 I |

AU

20 M. =it wsh MR &fe a1 W @ 2 o I h fY. S U easieves Hean wer R |
act % ferelt foig & eaieve & Foreet qem Sudt Rl 3 S 1o shwsr: 45° 721 60° F |
h =T AH 1 HINT |

4.4, x 2.6 M. x 1 M. fomati Gt g o 3| TSR Zohs i TUHATRL Tsh WHE!
TATRR IT8Y § &ToiT 7T feeht 31aftes forsem 30 9 qen /ierE 5 ot 2 | arsy <) wers
FTd T |

1 STETar 52 & fo7u T T 3Tk TR 1 Gl SRERdT 95k Wit | 374: 524 0
e W 1A I :

T : 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70

IRERAl 5 15 20 23 17 11 9
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36.

37.

38.

39.

40.

A train covered a certain distance at a uniform speed. If the train would
have been 6 km/hr. faster, it would have taken 4 hours less than the
scheduled time and if the train were slower by 6 km/hr., it would have
taken 6 hrs. more than the scheduled time. Find the length of the journey.

In an equilateral triangle ABC, D is a point on the side BC such that
1
BD = 3 BC. Prove that 9 AD?> =7 AB.

OR

Prove that the sum of squares of the sides of a rhombus is equal to the
sum of the squares of its diagonals.

If the angle of elevation of a cloud from a point 10 metres above a lake is
30° and the angle of depression of its reflection in the lake is 60°, find the
height of the cloud from the surface of lake.

OR

A vertical tower of height 20 m stands on a horizontal plane and is
surmounted by a vertical flag — staff of height h. At a point on the plane,
the angle of elevation of the bottom and top of the flag staff are 45° and
60° respectively. Find the value of h.

A solid iron cuboidal block of dimensions 4.4 m X 2.6 m X 1 m is cast into a
hollow cylindrical pipe of internal radius 30 cm and thickness 5 cm. Find
the length of the pipe.

For the following frequency distribution, draw a cumulative frequency
curve of ‘more than’ type and hence obtain the median value.

Classes 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70

Frequency 5 15 20 23 17 11 9

.30/3/1. | 15
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